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RUET.
= 1 55, 943, 515
Fe[RITE A A R AR
= 1 55, 943, 515
PRI
= 1 6, 037, 200
PR v7° (P-2) KHEKE v7° . ¢ 65mm, 0. 19m3/mi
nX7. 5Kw
=) 2 886, 195 1,772, 390
PR v7° (P-3) KHEKE v7° . ¢ 50mm, 0. 08m3/mi
nX3. 7kW
=) 2 683, 109 1, 366, 218
PR V7 (P-4) KHEKE v7° . ¢ 50mm, 0. 16m3/mi
nX3. 7Kw
=) 2 673, 878 1, 347, 756
PR v7° (P-5) KHTEKE ¥7° . ¢ 50mm, 0. 20m3/mi
nX2. 2Kw
=) 2 627, 722 1, 255, 444
IKALEE Ta=pafyF
& 16 18, 462 295, 392
XA
= 1 26, 272, 010
K7 7 v (F-1) il . 0 ¢ 1000mm, R #57
5m3/min X 15Kw
=) 2 4,994, 082 9,988, 164
K7 7 v (F-2) il . 0 ¢ 1000mm, 5 E #:52
5m3/min X 7. 5Kw
=) 2 4, 449, 441 8, 898, 882
TH 2 (F-1) HEHER 92
=) 2 1, 846, 241 3,692, 482
TH 2L E (F-2) HEHER 92
=) 2 1, 846, 241 3,692, 482
ST IR R M
= 1 1, 383, 607
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THEX Sy - T - R - A5 PSR 4 TG B B G R AT & (3l T2 (A
FHU, & R AR B A X5 E
= 1 547, 252
R U & B RUE X4 D
= 1 30,911
Ficl & BUAH 4 B AR X4 D
= 1 805, 444
PRAEH A 3% G
= 1 22,016, 412
HEKE V7" (P-2) il fEE JE N A SHEE H R
i} 1 3, 341, 696 3, 341, 696
HEKE V7" (P-3) il JE N A SHEE Hh R
i} 1 2,224, 720 2,224,720
HEKE /7" (P-4) il fEE JE N A SHEE Hh R
i} 1 2,224, 720 2,224,720
HEKE /77 (P-5) il EE JE N A SHEE H R
i} 1 2,224, 720 2,224,720
HEoKE V7" FoeBH A% EANPAGHEERT (BIETRY)
i} 8 258, 473 2,067, 784
H 77 (F-1) il i JE N A SHEE H R
i} 1 3, 083, 222 3,083, 222
B 77 (F-2) il i JE N A SHEE H R
i} 1 3, 083, 222 3,083, 222
a7 730 7 R JE N A SHEE H R
i} 4 295, 398 1, 181, 592
HE KGR il JE N A SHEE Hh R
i} 2 1, 292, 368 2,584, 736
THuR s T (B
= 1 234, 286
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THEE (H%) 2f&  HDZT77
= 107, 589
THEE (H%) 2 HDZT70
= 32, 096
THEE (H%) 27 HDZT63
= 94, 601
SER -
= 463, 091
FlR e
= 56, 406, 606
THE s
= 367, 152
RE UM
= 56, 773, 758
it L
= 13, 730, 605
F [RIEAT 45 RR ik 1
= 202, 163
[P
= 202, 163
e [RIEAT HE RR i g%
= 202, 163
e [EEAT R R PR AT
= 5, 696, 981
e EEA IR AT
= 805, 608
PElT (HEARRRE)  HEAKE v7° (P- | 7. 5kW HEKE V7" S EEE 26
2)
= 0
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PErT (HEARRRAE)  HEAKE v7° (P- | 3. TkW HEKE V7" SREEH 26
3)

= 0 0
PElr (HEARRRAE)  HEAKE v7° (P- | 3. TkW HEKE V7" SREEH 26
4)

= 1 203, 093
PErr (HEARRRAE)  HEAKE v7° (P- | 2. 2kW HEKE V7" SREEE 26
5)

= 1 173, 368
oA (B E%A) 15. 0kW 5 77/iREEEK 26
#7777 (F-1)

= 0 0
PEfr (B GE%A) 7.5kW R T R EAE 2B
#5777 (F-2)

= 1 307,118
Hetie

= 1 122, 029

Ficl & R (e A+

= 1 4,037, 677
B & Ha At 80A SUS304

m 11 11,234 123, 574
B & Ha At 654  SUS304

m 0 9,498 0
B & Ha At 50A  SUS304

m 15 7, 580 113, 700
B & Ha At HIVP ¢ 75

m 678 3,960 2, 684, 880
B & Ha At HIVP ¢ 50

m 1 3, 482 3, 482
TR {01k Fp | SUSHY

= 0 0
TR {01k Fp | SUSHY

= 1 785, 595
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THEX Sy - T - R - A5 PSR 4 TG B B G R AT G| (GRS
Pk k2 TV I
= 0 0
Pk k2 TV IR
= 1 326, 446
BRAEI R PR AT 1
= 1 187, 261
HEoKE V7" Foe B PR R R A ENPASHEER (BIETY)
i} 4 12, 388 49, 552
Ha5 7 71 T R R R A JE N A SHEE H R
i} 1 38, 623 38, 623
7K B il 1 P ) JE N A SHEE Hh R
i} 2 49, 543 99, 086
SR B R S dE A 1
= 1 666, 435
90§ R B AR X E
= 0 0
90§ AR B AR X E
= 1 108, 313
R U 4 LR AT X4rD
= 1 33, 214
Ficl & B 4 B R AT X4rD
= 0 0
Ficl & B 4 B R AT X4D
= 1 524, 908
ERLHE
= 1 7,773, 626
7" Wy AR E T
= 1 19, 084
-5- E 72 TS T R
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7TVE AR 200X 200 X 150, SUSHY Bk
& 2 9, 542 19, 084
Fid /& L.
= 1 198, 004
RN JESHEBAREGTO
m 8 5, 149 41,192
RN JE SRR GA2
m 24 3, 647 87, 528
BN EE L =V AR VES4
m 4 2,122 8, 488
BN EE L =V EARE VES6
m 9 1,187 10, 683
RN AR &S B (0 v #
6
m 5 6, 486 32, 430
RN AR &S B (o) #5
0
m 3 4,183 12,549
TEARE AT IR
= 0 0
TEARE AT IR
= 1 5,134
Fic A L
= 1 7, 556, 538
B N ELHR CV22. 0sq—3C
m 75 3, 283 246, 225
B N ELHR CV14. 0sq—3C
m 5 1,914 9,570
B N ELHR CV8. 0sq-3C
m 27 1,663 44, 901
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B N ELHR CV5. 5sq-3C

m 10 1, 550 15, 500
B N ELHR CV3. 5sq-3C

m 52 1, 455 75, 660
B N ELHR CVV2. 0sq—3C

m 32 1,371 43,872
B N ELRR CVV2. 0sq—2C

m 23 1,334 30, 682
B N ELRR 1V22. 0sq

m 23 862. 19 19, 830
B N ELRR 1V14. 0sq

m 10 741. 26 7,412
B N ELRR V8. 0sq

m 13 645. 26 8, 388
B N ELRR V3. 5sq

m 27 327.7 8, 847
7o) Bk CV22. 0sq—3C

m 487 3, 080 1, 499, 960
7o) Bk CV14. 0sq—3C

m 32 1,794 57, 408
7o) Bk CV8. 0sq-3C

m 10 1,543 15, 430
7o) Bk CV5. 5sq-3C

m 20 1,430 28, 600
7o) Bk CV3. 5sq-3C

m 200 1,335 267, 000
7o) BoAR CVV3. 5sq—8C

m 2, 600 1,644 4, 274, 400
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7o) Bk CVV2. 0sq-15C

m 130 1,714 222, 820
7o) Bk CVV2. 0sq—5C

m 243 1,327 322, 461
7o) Bk CVV2. 0sq—3C

m 34 1,251 42,534
7o) Bk CVV2. 0sq—2C

m 16 1,214 19, 424
7o) Bk CVV1. 255q-6C

m 15 1,286 19, 290
7o) Bk CVV1. 25sq—-2C

m 25 524. 33 13,108
7o) Bk 1V22. 0sq

m 14 801. 26 11, 217
7o) Bk 1V14. 0sq

m 20 680. 33 13, 606
7o) Bk V8. 0sq

m 7 584. 33 4,090
7o) Bk V3. 5sq

m 638 293. 55 187, 284
i AR CV22. 0sq—3C

m 3 3,734 11, 202
i AR CV5. 5sq-3C

m 0 2, 295 0
i AR CV3. 5sq-3C

m 3 2, 200 6, 600
i AR CVV2. 0sq—5C

m 12 2,192 26, 304
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i AR V8. 0sq
m 938 0
i AR V3. 5sq
m 485. 56 2,913
+ATE
= 57, 835
290 - e T
= 57, 835
)Y - T — T O TIREE ) | 18-8-40 (
&)
= 0
)Y - T — T N TIREE ) | 18-8-40 (
&)
= 57, 835
BT S
= 2,362, 507
MR (B L)
= 2,362, 507
Wi
= 16,093, 112
B E m
= 3,493, 484
et s
= 1, 725, 986
Pa A TR
= 21,312, 582
BEEsAE-¢
= 2,247,195
R 5]
= 80, 333, 535
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THEX Sy - T - R - A5 PSR 4 TG B B G R AT & G| R (GBS
— R R

= 1 9, 036, 465

T HAlik
= 1 89, 370, 000

THE B 2 %8
= 1 8,937, 000

TG
= 1 98, 307, 000
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